Applications of Newton’s Laws

1.  Find the acceleration and the tension in the rope.


2.  Find the acceleration and the tension in the rope if m=15kg and M=12kg.
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3. Calculate the acceleration of the system and the tension in the string when m1=7.0kg and m2=9.0kg.  The tabletop is frictionless.
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4. Calculate the acceleration of the system and the tension in the string when m1=17.0kg and m2=9.0kg.  The coefficient of friction on the tabletop is 0.13.
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5. A 29 kg sign is supported by a vertical chain at each end. A strong wind blows and the chains make a 30 degree angle with the vertical. 
(a) What force does each chain exert when vertical?
(b) What force does each chain exert when at the 30.0o angle?
